Economics 611 Quiz 5
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1. Heteroskedasticity biases the ordinary least squares estimators of the slope and intercept parameters.
Your answer:

True or False

2. Heteroskedasticity biases the ordinary least squares estimators of the variances of the parameters.

Your answer:

True or False

3. In the presence of heteroskedasticity hypothesis testing is unreliable.

Your answer:

True or False

4. Heteroskedasticity is most commonly an issue with time-series data.
Your answer:

True or False

5. Weighted least squares is a method of correction when heteroskedasticity is a problem.

Your answer:

True or False

6. Heteroskedastic errors

A. means that estimated of the model parameters are biased

B. means that the variance of the error terms differs across observation

C. means that the model is correctly specified

D. means that errors across observations are not independent.

7. White’s correction for heteroskedasticity 

Your answer:

A. uses the squares of the predicted errors as estimates of the true variance of the individual observations

B. is only appropriate in large samples

C. all of the above.

D. none of the above.

8. Plotting the residuals (predicted errors) against the independent variables may be helpful in diagnosing heterskedasticity.  Heteroskedasticity may be a problem if the plots

Your answer:

A. appear completely random.

B. show no relationship between the residuals and the dependent variable.
C. do not show an equal number of positive and negative values of the error.

D. suggest a pattern in the errors.
       9. If the errors in a regression are heteroskedastic, feasible GLS 

Your answer:



A. provides unbiased estimates of the parameters of the model.



B. provides consistent estimators of the parameters of the model.



C. is BLUE.



D. is asymptotically less efficient than OLS. 

     10. The Breusch-Pagan test for heteroskedasticity

    Your answer:

A. tests for a relationship between the estimated residuals and the independent variables.



B. is a t-test.
C. tests for a relationship between the estimated residuals and the dependent variables.

